Multiplication Methods

Division Methods

Partitioning (grid multiplication)

13x8=104
X 8
10 80
3 24

80+24=104

together.

Partition 13 into 10 + 3 then
multiply each number by 8. Add
the partial products (80 and 24)

Division using horizontal or vertical jottings

Using an empty number line to count forwards...

24:3=8

‘How many threes in 24?’
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0 3 6 9

15 18 21

24

...also jump back from 24 to make the link with repeated subtraction.
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0 3 6 9

15 18 21

‘How many groups of three in 247’

24

Vertical (ladder method) or ‘expanded short multiplication’

Short division

13 x8 =104 98 + 7 becomes 432 = 5 becomes 496 =+ 11 becomes
1 4 8 6 r2 4 5 r1
10+3 2 3 5
X 8 7/9 8 5|4 3 2 1 1|4 9 6
24 (3x8
( ) Answer: 14 Answer: 86 remainder 2 Answer: 45+
+ 80 (10x8)
104
Short multiplication Long Division
432 + 15 becomes 432 + 15 becomes 432 + 15 becomes
24 x 6 becomes 342 x 7 becomes 2741 x 6 becomes 2 8 riz > g 2 8.8
1 5/a4 3 2 1 5[4 3 2 1 5/4a 3 2-0
2 4 3 4 2 2 7 4 1 3 0 o 3 0 0 1520 3 0 |
x 6 x 7 x 6 1 3 2 1 3 2 1 3 2
12 0 1 2 0 15%8 12 0
1 4 4 2 3 9 4 1 6 4 4 6 1 2 1 2 T 2 o
2 2 1 1 2 1 2 o
Answer: 144 Answer: 2394 Answer: 16 446 a5 0
Answer: 28 remainder 12 Answer: 28 ¢ Answer: 28-8




Long multiplication

24 x 16 becomes

Wl = N
W A AR N0
Bk Ol b

Answer: 384

124 x 26 becomes

1 2

1 2 4
x 2 6
2 4 80

7 4 4
3 2 2 4
1 1

Answer: 3224

124 x 26 becomes

1 2
1 2 4
x 2 6
7 4 4
4 8 0
32 2 4
1 1

Answer: 3224




